GENERAL SCIENCE QUESTIONS / SAMPLE PAPER - 20

41. Vinegar is a dilute solution of/mt’?aﬁf'&ﬂﬁ%
a) Acctoacetic easter/ Umﬁa?éw

b) Ethanoic acid/ Td=AI5s UTAS
c) Ethanol/ 3ﬁﬂh
d) Ethanal/ TTel

42. Which amongst the following is used for welding purposes?
afegar T & forw Reafaf@a 7 & forger 3uaer fhar srarg?
a) Mixture of ethyne and air/é’ﬂﬂ'iﬂ-ﬁ?ﬁ]’ﬂﬂﬁm

b) Mixture of ethyne and oxygen/ 3%3%34\1@3?[3?%%

c) Mixture of ethane and air/ @HWG@H%&W

d) Mixture of ethane and oxygen /T 3R 3itrdiste &1 fRsmor

43, Select an unsaturated hydrocarbon amongst the following
5T & & Teh 3rEC gTSgIehlelat Yol

a) Benzene /deoilel

b) Cyclopropane/ITUFiIAIYsT

c) Cyclobutane/aTTFeleg T

d) (CHz)s )

44, What happens when a solution of an acid is mixed with a solution of a base in a test tube?
FIT g1 g T fohel IR@eTell 7 31Fel o faeraet 1 &R & fderast & fAemar srarg?

(i) Temperature of the solution decreases /TaeTI T ATIATT Tedr g

(ii) Temperature of the solution increases /TATIT T ATIHTST G ST &

(iif) Temperature of the solution remains the same /ﬁm?ra?ramwm%

(iv) Salt formation takes place /WW%HSIUT@HT%’
(a) (i) and (iv)

(b) (i) and (iii)

(c) (i) only

(d) (ii) and (iv)

45. Which of the following statements is true for acids?

fArafaf@a & & #la a1 HYe 3Fcl & fav aca g2

(a) Bitter and change red litmus to blue. /&sar AR oirer foread & sirel T[T 7 deof |
(b) Sour and change red litmus to blue. /@wmmﬁmﬁ;ﬁﬁmﬁaﬁl
(c) Sour and change blue litmus to red. /@gaaﬂwﬁﬁﬁmafrmﬁaaﬁl

(d) Bitter and change blue litmus to red. /a3ar 3R el foredT 1 oftel 7 scel|
Sol-
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ACIDS ) BASES %
Taste sour & Taste bitter <§
Blue litmus turns red Feel slippery
Reacts with metals Turn red litmus blue
to make H, gas. Turns
Contains a H at the phenolphthalein

of the Contains OH at the
formula(HCl, H,SO,) of the formula

(NaOH, KOH)

46. The electronic configurations of three elements X, Yand Zare X —2,8;Y — 2,8, 7and Z — 2, 8, 2. Which of
the following is correct?

AT Tt X, Y 3Rz F selaciiae [AearT X-2, 88 AS - 2, 8, 7 IR AT - 2, 8, 2. A=A @I H A HIT AT TET
e?

(a) Xisa metaI/XUa?iTlT:)r%'

(b)Yisa metaI/YE'T:FEH_ST%'

(c) Zis a non-metal /ZUT:F}T‘E]T_ST%'

(d) Yis a non-metal and Z is a metal /YWHUIF;%&TTTZWWT;T%’

Sol-

X=2,8=10: It is the electronic configuration of neon.

Y=2,8,7=17: It is the configuration of the halogen family of chlorine atom which is non-metal
Z=2,8,2=12: It is the configuration of alkaline earth metals of magnesium atom which is metal.

Therefore, X is a noble gas, Y is a non-metal, and Z is a metal.

47. No current flows between two charged bodies when connected, if they have same
FAere glel I &Y AR et & drer IS Ry warfed 787 giel &, e 37k are Gt &
(1) capacity /&THAT

(2) potential /fasTa

(3) charge / 3321

(4) none of these /sﬂﬁﬁaﬁé'ﬂﬁ

Sol-

There is no current flows between two charged bodies connected together when they have the same potential.
For the flow of current between two conductors is that there must be a potential difference. Only then the
electrons can flow from a higher potential to a lower potential.

AT T3 g1t TR Teh A1 3 & AT ST & e S aRT yarfeed 781 g1l &1 & Shseredl & e URT &
SaTE & foTT Ueh eIt 3 gl =g | ot gelerelel 3o farera & foia= farerar 1 3R Fafe et &1 dehel €1

48. An animal cell, a plant cell and a bacterium share the following structural features :

Teh Si] NI, Teh T hfR1hT 3R Teh Shary] e Tl avasiicas fawar3it s amsim i §:
(1) Cell membrane, endoplasmic reticulum, vacuoles /ﬁ%@%ﬁ, WGIT%IW, REGEDIY

(2) Cell wall, plasma membrane, mitochondria /ﬁ‘f?\lﬂfa}l%, WI?HT@?@?L FIBE’IEF\I"%'EIT

(3) Cell wall, nucleus, cytoplasm /aﬁf?la?rﬁ'f%, év‘aiﬁ, FIfAeT g

(4) Plasma membrane, cytoplasm, ribosomes /WIH:IT@W, HITAFIGT, TE@W

Sol-

So, an animal cell, a plant cell and a bacterium share the plasma membrane, cytoplasm and ribosomes. Hence,
the correct answer is option D.
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oY, T ] PR, Tk ey I 3R T Saro] careHT fFredh, rsercers AR TEarde Jrst R §
3 T 3R [AFeT A g

49. Which of the following ray diagram is correct?

A& 7 & et &1 fotor 3@ | 82
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Sol-1
Incident ray parallel to principal axis passes through the focus and incident ray passing through focus emerges
parallel to principal axis

FTI 3767 & FATATR AT FoROT THIshal § BT Toicll & 3R WIehdl & T[oia arel 3T fohvor 7w 31e7
P FAATR Aol g

50. The correct sequence of reproductive stages seen in flowering plants is

Qoo aTel il 7 W Silet aTel Foielel TRUT ol el shal €

(1) Gamete, zygote, embryo, seedling /W, JIHTST, AT, 343?

(2) zygote, gamete, embryo, seedling /?:'Ia?TIFIGT, W, 3{\UT, 3-137{'

(3) seedling, embryo, zygote, gametes /3-171?, T, JIHAST, JIHD

(4) gamete, embryo, zygote , seedling /W, T, JIHTS, 3-173?

Sol-

The male gamete is present in the pollen grain which is formed by a meiotic division in the microspore mother
cell within anther.

The female gamete is the egg that is formed in the embryo sac in the ovary.

The male gamete and female gamete fuses to form the zygote by the process of fertilization that undergoes
repeated division to form the embryo.

The embryo develops and matures in the seed, which germinates by the absorption of water to form a new
seedling.

oI FIH TRITHUT A FIS[E BIcTT & ST TRTIITHILT & $o GEHSSITI] HIc] hi Ikl 7 G TIATST SarT Setar
J

HIET Yo Ig 37ST & SiY 37BTT 3 30T el 3 FofcT

X FaHh 3R ATCT oA AT I TishdT SaRT FIHAS SeTd & ST 0T &ellel & [T IR-aR fqemmerer &
ToRAT§ |

o1 T et gl & 3R dvst & aRurera gIelT ©, SiY el & 31aRIS0T & Teh o141 3 Setlel & foIw iR grar
J

51. Which of the following is most acidic in nature?
AT fEa & @ et vepfa & T 31fee el g7
A HI

B HCI

C HBr

D HF
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52. Choose the CORRECT statement regarding Ohm's law:

3T 35 Forere s e % Y et

(1) It is valid for any circumstances, i.e. independent of temperature /dg TR 8 aRTEufT & o AT %’,
3T YA & FIAT

(2) Ohm's law is valid for all conducting materials /mwﬁwammmiﬁum%

(3) The temperature must be constant for validation of this law /ﬁﬁm@f%ﬁ?ﬁ'ﬁf A9 8 gheT

BURY

(4) All are wrong /8 Teld &

Sol-

Since ohm's law is only valid for constant temperature. If we change the temperature then the resistance of the
conductor will change and that will change the relationship between current and potential difference. So
statement 3 is correct and statement 1 is wrong. So option 3 is correct. It is only valid for ohmic resistance. So
statement 2 is not correct.

feh 3TH T THIH Shael [T AT & ToIT €1 AT 81T & | ATE §H ATIAT dgoidd o Al shsered 3l FToRIe deel
STean 3R 388 adATT 3R GIfad 3/a7 & ST GaY Seo ST | 37d: FUT 3 TEr & 3R FUF 1 Tad &1 31
e 3 T ¥ | I8 Fad 3NfAS 90y & T AT &1 31T HUT 2 TE &1 21

53. Blood group AB has

SISYTABE
A. No antigen /ﬁémﬂﬁ
B. No antibody /&S UEIETaY gt
C. Neither antigen nor antibody /HHT@E?T}T\TH@T@H\@
D. Both antigen and antibody /UESTA 3R TSI gt

Sol-
Blood group AB — has both A and B antigens, but no antibodies.

T g AB - H A 3R B G111 TESTT BT &, oifeheT hls UEIaTSI Tgi a1 o |

54. Which vitamins are those if taken in excess can be dangerous as they are stored in the body?

i1 O erfae § o afe 311 A A forr ST o @ @eiatreh gl Jehd § i 3 R A SAT I 82

A. B Complex
B. EandC
C. BandC
D. AandD

Sol-
Taking higher than recommended doses of some vitamins may cause health problems. Such as: Vitamins A, D, E
and K are fat soluble, which means they are stored in the body and if taken in high doses can be toxic.

T faeTT@et T 3R G A 318 olel § TARLT FHEITT g1 Fehell & | Si: e T, 21, $ iR v aam
A gofereNer €, foraenr 31 § foh & R & ST 81 511t 8 31K iy 3wr s # foram 1w i Ig farsmeret g1 dehett
gl

55. The color of light is determined by its

Tt 3T 39T fohdeh garT freTiRe fopar Srar &
A.  Amplitude/3TITH
B. Wavelength/d3aT ¢&1
C. Intensity/dadr
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D. Velocity/ddT

56. Elements are arranged in order of

dcdl S saa et fhd e 7 I ST 82

Decreasing atomic number/mﬁma?aﬁamﬁ
Decreasing atomic mass/ qmwgma:uzﬁm:ﬁr
Increasing atomic number/W@@T%aﬁﬂﬁ
Increasing atomic mass/ qmwgma?aaﬁwﬁr

o 0w >

Sol-

The chemical elements are arranged in order of increasing atomic number. The horizontal rows are called
periods and the vertical columns are called groups. Elements in the same group have similar chemical properties.
This is because they have the same number of outer electrons and the same valency.

I e Feal i S §U IRATT] haieh o e 3 cHafeed foham ST & | &1fcist dfeeral shr 3iact hgm STl &
R FeATeR EH! 1 Geg el ST & | Teh 1 oG oh cled! 3 FHTA AT To1eh UTEIA & | VAT SHTAT & Fifeh
3eTeh OTH HAHTT &A1 H 18 Solarelall 3T AT TASThaT 2|

Q57. Decrease in force of attraction between valence electrons and nucleus by inner electrons is called
HARE getarclell GaNT doid Felacial X wfFerd o 1<l 3THYOT & FoT 7 Y I AT &gl STl 87
Screening effect/ Thifaier T81Ta

Shielding effect/ IRT&TOT T

Photoelectric effect/ Warﬁag?rqaﬂa

Dopler effect/ SR T3

o 0w >

Sol-
The decrease in the force of attraction exerted by the nucleus on the valence electrons due to the presence of
electrons in the inner shells is called screening effect or shielding effect.

AR FIRAT F erarglal T 3URATA o FHROT ATHD GaRT FATSThdT SIFelall U oT9TeT aTel IThYUT FeT 7
T S aRRETOT T AT IRRETUT Te1Ta ST ST & |

58. The function of the centrosome is

oA FT R E

(a) Formation of spindle fibres/ T&9gel PISsT ol faTor
(b) Osmoregulation/Wﬁ’H

(c) Secretion/dTd

(d) Protein synthesis/9TéTeT eINUT

Centrioles are minute submicroscopic sub-cylindrical structures which usually occur in pairs, inside a
specialised cytoplasm called centrosphere or kinoplasm. The whole complex is called as centrosome, having
two centrioles lying at right angles to each other.

They occur in cytoplasm of animal cells. Centrosomes give rise to spindle fibres and are responsible for
movement of chromosomes during cell division.

YT FEH G&H SY-SelelTehR HIUATT § il ITHAR T 1S H gl 8, Teh AW IR g7 & 3ieT o
TERIIT AT fratICalTs &gl STal & | QX IRET T ST &gl STl 5, forea & A3 e v gay &
HHDIOT X AT & |
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9] IRARTIHT o hITRAAT 5o F BId § | I TEISel BIgeR T STeH &l & 3N IR TS oh SR
IO T a1 o forw e gl &1

Metaphase
Spindle equator Polar
microtubules
Centrioles Aster
microtubules
(+)
2 (+)
NS P a4
= S
A\ A
&
Spindle
Centrosome pole
Sister
Kinetochore Kinetochore Chromatids
microtubule (a Chromosome)

59. The tissue in man where no cell division occur after birth is
HATT 7 TG FaF 6l ofeH & TG HIS HINHT (G 6T BIell &
a) Skeletal / dhepTel

b) Nerves / dT3ehT

¢) Connective / 3T

d) Germinal / S{Uﬂ'q

Cell division is the process by which cells produce new cells. In animals some tissues must be repaired often
such as the lining of gut, white blood cells, skin cells with a short lifespan. Other cells do not divide at all after
birth are neurons.

A neuron or nerve cell is an electrically excitable cell that communicates with other cells via specialized
connections called synapses. Neurons are typically classified into three types based on their function. Sensory
neurons respond to stimuli such as touch, sound, or light that affect the cells of the sensory organs, and they
send signals to the spinal cord or brain.

PRI THeATSTeT dg TTshdT & ToTdeh SaRT HITRABIT 78 HIRARI3 T AT el 8 | STAar] H e Ficteni hr
3TFER AFHAT T STl AT oI foh 31T T R, The, T HITADTT, BIET 3H dTell cadl DITAHIT | STod h
e 3T PN reaper 3 Fasnforea F&T a1l €, 9 =it &

Teh et AT ATHRT PIRAT Teh [AeT el T & Fioteiia TR § S FATe A1 QY shotereret & ATeTH &
3o HITRARIIHT & AT FAR A | 7 T HTHAAR I 3feh 1 o TR T AT FehRT H afiehet foram
ST § | TG R Mo T, &aeT IT ThTRA S SeTTAT3HT 3T STATS Gl & SiT FAGT 37311 T IR bt

g X &, 3R T fg hr 32 a1 AfeasH Y Hohd FTa &

60.Which type of protein is found in DNA?
DNA #H 8 9 &7 W1 91T ST 8?2

A) Renin/ Y@
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B) Heparin/ g9TReT
C) Histone/ fg¥eleT
D) Keratin/arfeeT

Histone is the protein present in DNA. It is made up of basic amino acids like lysine, arginine, whereas DNA is
negatively charged. Due to the opposite charges between DNA and histone protein, the highly coiled DNA has
been tightly packaged inside the nucleus.

ST 7 Al Nd fieei=r €1 I8 emsfle, snfSifaer She et 31 vfdis @ s giar g, safes Sieeae
AhRTcH T TToT g1 ¢ | ST 3R fgeetar 9réeT & direr faoier 3Rt o R, 31cgfereh Hsford Sivaw
I ATTHD o 3ET HHRT Yo [hATIAT |

DNA Structure
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